<TEST REPORT>

W

‘Mﬂﬂ”}}}H\M\muwuu

HIOKI

HIOK E. £ CORPORATION

1/1
&4 <Model Name> ( ARLA22=YRSTRAINUNIT> )
#s 4 <Model Number> ( 8960 )
B1:5 %S <Serial No.> ( No. 100702950 )
BEE A B<Test Date> ( 2010-07-01 )
<YYYY-MM-DD>
B EEH#<(Test Conditions> ( 250 °C, 69 %rh )
EE | LU | BRER A 5
tem>| <Range> <Test Point> {Tolerance> <{Measured Value>
1.DCHRIEHEE<DC Amplitude Accuracy>
JYwBE 2V <Bridge Voltage 2V> CH1 CH2
20 u € /DIV 400 u € 396400 ¢ € ~ 403600 ¢ £ ( 399.725 u €) ( 400.275 y €)
50 u € /DIV 1000 1 € 994000 y € ~ 1006.000 ¢ £ ( 1000.094 y €) ( 1000.281 1 &)
100 ¢ € /DIV 2000 i € 1990.000 ¢ € ~ 2010.000 ¢ € (2000.125 p ) (2000.812 4 €)
200 u € /DIV 4000 u € 398200 £ ~ 401800 y € ( 4000.12 u ) ( 400050 u €)
500 u € /DIV 10000 i € 9958.00 € ~ 10042.00 ¢ € ( 9999.69 y ) (10001.56 u €)

1000 ¢ € /DIV

20000 1 € 19918.00 u € ~ 20082.00 u £ ( 20002.50

JYy EE 5V <Bridge Voltage 5V>

20 u € /DIV

400 u € 396.400 4 € ~ 403.600 y £ ( 400.187

J1)wIEE 10V <Bridge Voltage 10V>

20 u € /DIV

400 1 € 396400 y £ ~ 403600 p € ( 400.062

@ e) (20008.12 u €)

¢ &) ( 400062 u )

g e) ( 400038 u €)

& <{Note>

FAIL¥IE &fIE. FL—FKTELTLET , <FAIL decision points are highlighted in gray.>

#3543 7E {Overall Result>
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)

B&E#E<Inspected by>

( )

& 2% <Approved by>
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